Example: Overlapping Insert
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insert local text cat pos @ cli A ref seq © clieak A roorts \"C‘*\lg cat ot &

‘,,1' Node (len 15) p len (©) with 2 live segments:
[Y\Mmin: 11; sc: 1; Meras dree S;;-\,A
d\&"’"/;dl A seq: -1&0,\0_%\3/\29 QeELﬂ:
.
toot ~ cat VA
s S,cli: original seq: © r\‘)‘r‘)*)( cak on s onect,
::Jzac) on the mat. o
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insert local text big pos © cli B ref seq @ clienk B damerts \ocauj ‘ota ot ﬁ
Node (len 15) p len (@) with 2 live segments:
min: 11; sc: 1;

cli: B seq: -1 /\
N :
9, o Gy ontle

X\OL cli: original seq: ©
on the mat.

aRder \“3 * w ast 4 ,\fﬁo ﬁ
insert local text furry pos Zf’/cll B ref seq B \ecal maesk zf f'umj {

Node (len 21) p len (@) with 3 live segments:
min: 11; sc: 1;

\ cli: B seq: -1
O big
)(\bc cli: B seq: -1
~

N\ff‘& ’

*  furry Vb "uH\) on M tnut.
6}" cli: original seq: © 9
—3¥ on the mat. 1 . L Gop 4|
. \ L 49 {
f/or @cli A ack seq # 1 erven aclks AR noek o(f cat i 7n7 4
= len 15) p len (©) with 2 live segments: \
min sc: 2;(1,4) C11ent A[(1 4)] (,/"—f‘*"k ‘ol 12 oakn (ato
cli: A seq @681# Chaneed \ —7 \-’“\‘)W '\'L'\ (A
v\\‘\ ‘(ﬂ cat U"‘Q' ook A adde
X cli: original seq: ©
on the mat. /d\\* e
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@cli B text cat seq 1 insert remote pos © refseq © cli A Sev-ver

Node en 25) p len (@) with 4 live segments: AYS e erd 70
sc: 4; (1 4) Client A[(1,4)] tedo -
A o o c11 B seq: o B Wb o \er
\ big
L cli: B seq: -1 /N\
e o e

furry
cli: A seq: 1 Lug) ‘F"’r_} "
cat Q ¢ 005t H \eFE
cli: original seq: © - / *‘5“ f° Qovt] S &
on the mat. > A ok big & T .jn..ﬂ e
U"“‘hlﬁé \'toa./"V‘ (n\“""':'e
@cli B ack seq # 2 z+rver ack B Ul ” st \ate~ ¢

Node (len 25) p len (@) with 4 live segments:
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cli:
furry
cli:
cat
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sc: 4;(1,4) (2,8) Client B[(2,4)]Client A[(1,4)]
B seq: 2 \\\\\;i:::::>~_f:>*\\\\\\___—/ @¢¢x¢a¥ ~9
'D\t" \(\QU
B seq: -1 //// n»u{-
A seq: 1 (,) ;ar cak
original seq: ©
e mat.

@cli A text big

min:

11;
cli:
big
cli:
cat
cli:

e
AN

seq 2 insert remote pos © refseq © cli B 9¢rVv’™

Node (len 19) p len (@) with 3 live segments: AN b\ﬁ
sc: 3;(1,4) (2,8) Client A[(1,4)]Client B[(2,4)] Mol B9
B seq: 2 A o Agbo: '22’4,&\1\:0 » }g,pm‘)
A seq: 1
original seq: © l: cat on Me onat .
e mat. 5

@cli B ack seq # 3 Serv4u acles B's Msert

on th

Node (len 25) p len (©) with 4 live segments:

min:

i

11;
cli:
big
cli:
furry
cli:
cat
cli:
on th

é& ¥°rﬁ:j

sc: 4;(1,4) (2,8) (3,14) Client B[(2,4)(3,10)]Client A[§1,4)]
B seq: 2 Q}ﬁ‘79 Ko 1z 00 A
§¢3 £er~

B seq@ D \rg"

A seq: 1

original
e mat.

@cli A text furry
Node (len 25) p len (©) with 4 live segments:

min:

11; sc:

cli: B seq: 2
big

cli: B seq: 3
furry
cli: A seq: 1
cat
cli: original
on the mat.
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insert local text cat pos © cli A ref seq ©
Node (len 15) p len (©) with 2 live segments:

min:
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sc: 1;

seq: ©
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cli: A seq: -1
cat
cli: original seq: © b 2 Kis G“Q)L

on the mat.

insert local text big pos © cli B ref seq ©
Node (len 15) p len (©) with 2 live segments:
min: 11; sc: 1;

cli: B seq: -1

big

cli: original seq: ©

on the mat.

@cli A ack seq # 1
Node (len 15) p len (©) with 2 live segments:
min: 11; sc: 2;(1,4) Client A[(1,4)]

cli: A seq: 1

cat

cli: original seq: ©

on the mat.

@cli B text cat seq 1 insert remote pos © refseq © cli A
Node (len 19) p len (©) with 3 live segments:
min: 11; sc: 3;(1,4) Client A[(1,4)]

cli: B seq: -1

big

cli: A seq: 1

cat

cli: original seq: ©

on the mat.

@cli B ack seq # 2
Node (len 19) p len (@) with 3 live segments:
min: 11; sc: 3;(1,4) (2,8) Client B[(2,4)]Client A[(1,4)]
cli: B seq: 2
big
cli: A seq: 1
cat
cli: original seq: ©
on the mat.

@cli A text big seq 2 insert remote pos © refseq © cli B
Node (len 19) p len (©) with 3 live segments:
min: 11; sc: 3;(1,4) (2,8) Client A[(1,4)]Client B[(2,4)]
cli: B seq: 2
big
cli: A seq: 1
cat
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cli: original seq: ©
on the mat.
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insert local text furry posés §1i B ref seq éi) B % ’ j Af ﬁ7

Node (len 25) p len (©) with ive segments: 6“( #7
min: 11; sc: 3;(1,4) (2,8) Client B[(2,4)]Client A[(1,4)] L‘NQ‘? Weadk l/»
cli: B seq: 2

X*)}’ big

cli: A seq: 1
cat %
. o:\k""mw

cli: B seq: -1 Cok :“‘3

furr
cli: original seq: ©
on the mat.

@cli B ack seq # 3 Loy VUL acls 1B

Node (len 25) p len (©) with 4 live segments:

min: 11; sc: 4;(1,4) (2,8) (3,14) Client B[(2,4)(3,10)]Client A[(1,4)]
cli: B seq: 2
big
cli: A seq: 1

\
L‘
méf// cat
cli: B se%f:§i>
furry

cli: original seq: ©
on the mat. Jope k1

l lur“ Py
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?u)fj FW
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@cli A text furry seq 3 insert remote pg

Node (len 25) p len (©) with 4 live segm

min: 11; sc: 4;(1,4) (2,8) (3,14) Client A
cli: B seq: 2

big
cli: A seq: 1
Q?grv} cat e ek

cli: B seq: 3 o Cua oA  al2s g
furry L"s + Fore
cli: original seq: © 2 1
on the mat. N/
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